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& Az & 4 ouT IN [TOTAL| HDCP NET
B % EE IR 39 | 38 | 77 11 66
HEB B =B R 38 | 38 | 76 9 67
3 i HOR ’REZ 38 | 38 | 76 8 68
4 fir Rf#p 2% | 40 | 38 | 78 9 69
5 fir JER 2B+ | 40 | 39 | 79 10 69
B-G B E= 37 | 38 | 75
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& Az & 4 ouT IN [TOTAL| HDCP NET
B B S R1E 37 | 37 | 74 5 69
YEE S wIEZ 39 | 40 79 10 69
3 fi =W kiR 40 | 39 | 79 8 71
4 fir EH = 42 | 40 | 82 10 72
5 fir )1 2HA 39 | 40 79 6 73
B-G | BFBIE | 37 | 37 | 74
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& Az & 4 ouT IN [TOTAL| HDCP NET
' B PR 15 42 | 43 | 85 18 67
YEE RS Z M &5 43 | 41 84 15 69
3 fi i fLE 43 | 43 | 86 16 70
4 fr IR B— 44 | 43 | 87 | 17 70
5 fir it Fo= 45 | 53 | 98 27 71
B-G Z M &5 43 | 41 84
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& Az & 4 ouT IN [TOTAL| HDCP NET
# B PaE B 44 | 41 | 85 17 68
YEE S H%Em 12 49 | 45 94 26 68
3 fi HH BAE 42 | 42 | 84 | 15 69
4 {ir FAR —Fk 49 | 48 | 97 28 69
5 fir S B RS 41 | 49 | 90 20 70
B-:G B BAE 42 | 42 | 84
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